(SS)

W)

No Ne P249

@ (m) (m/ ) (m) (m) | (cm/min) | (m3/min) pl po0
1.500 12.40 1.800 2.430 4.0 1.319 1.15 1.00
yn Gsn
Gs (%) S1(%) S2(%) S3(%) t(m) (t/m3) (%)
1.6 40
2.65 81.00 7 16 77 150.00
10 1.5
0]= 10 X x 1.5 = 19.79 (m3)
0]-= 0 X pl = 22.75 (t)

0]z ———————— — x 100

al] = 0 x 0 + 100
a0] = 0 + Gs

w0] = 0 x (100- 0)+ 100
wo] = w0

0]= a0 w0

0]= a0 w0

20.95 (Wtth)

4.77 (V)

1.80 (m3)

17.99 (1)

17.99 (m3)

22.75 (1)

19.79 (m3)



(SS)

W)

(SS)

W)

[y t]1=

al

al

X 60.75
(m/min)
X p 1
Pl pO
x 100
x (Gs p0)
X 1 + 100
+ Gs
X (100- 1)+ 100
wl
wl
100
100 Gs
X Yy t
X 100 = (100+ )
+ Gs
X +(100+ )

80.13 (m3/ )
60.75 (min/ )

92.15 (t/ )

20.95 (Wtth)

19.30 (1)

7.29 (m3)

72.84 (1)

72.84 (m3)

92.15 (t/ )

80.13 3/ )

6.18 3/ )

1.524

9.42 (t/ )

521 (t/ )

1.97 (m3/ )

4.22 (/)

4.22 (m3/ )



[ 2]= a2 w2 = 9.42 (t/ )

[ 2]= a2 w2 = 6.18 (m3/ )

[ r2]= a2 x S1 + 100 = 0.364 (t/ )

[ r2]= r2 + Gs = 0.137 (m3/ )

[ s2]= a2 x S2 + 100 = 0.833 (t/ )

[ s2]= s2 + Gs = 0.314 (m3/ )

[ c2]= a2 x S3 + 100 = 4.009 (t/ )

[ c2]= c2 + Gs = 1.513 (m3/ )

[ a3]= al a2 = 2451 (t/ )
(SS)

[ a3]= al a2 = 9.25 (m3/ )

[ w3]= wl w2 = 77.06 (t/ )
W)

[ wa]= wl w2 = 77.06 (m3/ )

[ 3]= a3 w3 = 101.57 (t/ )

[ 3]= a3 w3 = 86.31 (m3/ )

p3]= 3 + 3 = 1.18

[ 3]= a3 + 3  x 100 = 24.13 (Wth)

[ b3]= r2 s2 = 1.197 (t/ )
(+0.074mm)

[ b3]= r2 s2 = 0.451 (m3/ )

[ c3]= al c2 = 23.313 (t/ )
(-0.074mm)

—
(]
W

—_

1
D
[N
o
N

11

8.798 (m3/ )



10Wt(%)

(SS)

W)

(SS)

100%

A0Wt(%)

[ r4]=

[ r4]=

[ 4]=

[ s4]=

[ c4]=

[ c4]-=

[ ad]=

[ ad]=

[ wa]=

[ wa]=

[ 4]=
[ 4]=

[p4]=

[ a5]=

[ a5]=

(-0.0074mm)
r2
r2
S2
S2
( Mx01  Ax 04)x
c4 + Gs
r4 s4 c4
r4 s4 c4
( rdx 0.1 sAx 0.4)
w4
a4 w4
a4 w4
w4 + a4
a3 a4
ab + Gs

c4

0.364 (t/ )

0.137 (m3/ )

0.833 (t/ )

0.314 (m3/ )

0.086 (t/ )

0.032 (m3/ )

1.28 (t/ )

0.48 M3/ )

0.28 (t/ )

0.28 M3/ )

157 (t/ )
0.77 3/ )

0.22

23.23 (t/ )

8.77 (m3/ )



W)
(9
0=
(SS)
W)
(- *a
(SS)
W)

5]= ab w5

5]= ab w5
p5]= 5 * 5

5]= ab + 5 x 100

(0 x 15)
19.785 m3 c= #VALUE! m3
(SS) W)
acl]= cx plx 1+ 100
wcl]= cx plx (100- 1)+ 100
= 1 - 0
ac?]= acl (& al)+ a
ac?]= ac2 + Gs

wc2)= wel  ( wh wl) + a

wc2)= wc2

76.78 (t/ )

76.78 (M3/ )

100.01 (t/ )
85.54 (m3/ )
1.17

23.23 (Wth)

4.766 (1)

17.986 (t)

4.050
5.74 (t)

2.16 (m3)

18.96 (1)

18.96 (m3)



[ c]= ac2 wc2 = 24.69 (t)
[ c]= ac2 wc2 = 21.12 (m3)
[pcl= c + c = 1.17
[ c]= ac2 + c x 100 = 23.23 (Wth)
|
J
(@) (Ve)
(b) (o)
() , ( 9= 50 Wt%
®9
2x Gs
P9=————— = = 1.452
Gs+1
1 5 1 5 1
pl pc Case 1 Case 4 Case 7
pl pc Case 2 Case 5 Case 8
pl pc Case 3 Case 6 Case 9
1: (m3/7 )
5: (m3/7 )
p1l

pc:



- a 1
|
=b |
- (m3/ )
=c |
|
=d il
Casel Case4
y4
(c-22x pc zx p0= cx pl
=(pl-pc)x c+ (PO0-pgo
a'=z b’ 5- 1 c'=0.0
y4
(p 0=1.0
c-z y4
(P o — (P c
Case2 Caseb5
a'=0.0 b’ 5- 1 c'=0.0
Case3 Caseb
y4
(c-22x pc zx p9= cx pl
=(pl-pc)x c+ (P9-pO
a'=z b’ 5- 1 c'=z
y4
P9
c-z y4
(P o — (P c

d'=z
d'=0.0
d'=0.0



Case7

:Z+y

(c-z-yyx pc (z+y)x

Z (1- 9 a vy

p0= cx pl

={pl-po)x ¢ (pPc-pOx y+ (p0-pc

a'=z b'=0.0 c'=0.0
z+y(p0) y=( 1- 5 «a
c-2-Yy y4
(Po —— - (Po
z 00
Case8 Case9
X (1- 9 a vy

:y—X

(c-y)yxpc xxp9

y-xx p0= cxpl

x={pl-pc)x c (c-pOxy= P9-p0)

Xy

a'=0.0 b'=0.0

y-x(p0)

X (p9)

c-y
(P o

d'=z+y



Xy

z (1- 9 o vy ( =z+y)
(c-z-yyx pc (+y)x p9= cx pl
={pl-pc)x c (pPc-p9Yx W+ P9-p0
a'=z b'=0.0 c'=z+y d'=0.0
z+y(p9) y=( 1- 5 «a
c-z-y z
o ——— o
Case 1 a' b’ c' d' z X y
pl pc 2.224 5.413 0.000 2.224 2.224
pl pc
pl pc
pl pc
pl pc X VY -1.331] -1.337
X VY -1.331 -1.337
2.224 5.413 0.000 2.224
za'x a = 9.007 (m3/ )
=b" = 5.413 (m3/ )
=c'x a = 0.000 (m3/ )
=d'x a = 9.007 (m3/ )




(SS)

W)

(SS)

W)

(SS)

W)

a7l

a7l

w7]

w7]

7]

7]

as]

as]

we]

we]

8]

8]

a9]

a9]

wo]

wo]

9]

9]

a7

ar

X pCx

w8

a8

a8

a9

X p9x

w9

a9

a9

Gs

c+ Gs+ 100

a7

w7

w7

Gs

c+ Gs+ 100

as

w8

w8

Gs

9+ Gs=+ 100

a9

w9

w9

2.45 (/)

0.92 M3/ )

8.08 (/ )

8.08 3/ )

10.53 (/ )

9.01 (m3/ )

1.47 (/)

0.56 (M3/ )

4.86 (t/ )

4.86 (m3/ )

6.33 (/ )

5.41 (m3/ )

0.00 (/ )

0.00 (M3/ )

0.00 (/ )

0.00 (M3/ )

0.00 (/ )

0.00 (M3/ )



(SS)

W)

(SS)

W)

10] =

10] =

alll=

alll=

wll]=

wll]=

11] =

11] =

60
al?)=

al?)=

wl2]=

wl2]=

12] =

12] =

13] =

13] =

10

a7

a7

w7

w7

all

all

all

all

al2

wl2

al2

al2

wll

13

a8

a8

w8

w8

wll

wll

+ 100

wl2

wl2

wl2

9.01 (/ )

9.01 (m3/ )

3.92 (/ )

1.48 (m3/ )

12.94 (t/ )

12.94 M3/ )

16.86 (/ )

14.42 (m3/ )

3.92 (/ )

1.48 (m3/ )

235 (/ )

2.35 (m3/ )

6.27 (/ )

3.83 M3/ )

10.59 (/ )

10.59 (m3/ )



[ 14]= 13 wo 10

158 (t/ )

[ 14]= 14

1.58 (m3/ )



( = 81.00 %)
m3/ 4.22|  1.97]  6.18
t/ 4.22| 521  9.42
!
P= 117 )
(= 23.23 With)
m3/ 76.78|  8.77| 85.54
t/ 76.78]  23.23| 100.01
!
P= 117 )
(= 23.23 With)
m3 18.96]  2.16| 21.12
t 18.96]  5.74] 24.69
!
m3/ 4.86|  0.56| 5.1
t/ 4.86]  1.47]  6.33
1

P= 115 )
(= 20.95 With)
- | m3/ 72.84  7.29]  80.13
t/ 72.84]  19.30]  92.15
!
P= 1.18 )
( = 24.13 With)
m3/ 77.06]  9.25| 86.31
t/ 77.06]  24.51| 101.57
!

( = 22.10 %)
m3/ 0.28| 0.8  0.77
t/ 0.28] 1.28] 1.57

(@)
m3 17.99|  1.80] 19.78
t 17.99]  4.77]  22.75
L
e
!

m3/ 8.08 092 9.01
t/ 8.08]|  2.45] 10.53

<7




— —_———_—_—_——

117 )
= 23.23 With) = 50.00 With)
+
m3/ 12.94|  1.48| 14.42| }——| m3/ 0.00]  0.00]  0.00]
t/ 12.94]  3.92| 16.86 t/ 0.00| 0.0 0.00
L——| m3/ 9.01] -- 9.01|
t/ 9.01] -- 9.01
f - =
1
= 60.00 %)
m3/ 2.35| 148  3.83 m3/ 10.59 10.59
t/ 2.35] 3.92| 6.27 t/ 10.59 10.59
SR ——
1 l
m3/ 1.58




[ 3 [ o]
0.04
3 x —— 86.31 ———— 1.421 m3/min
2.43
x 60 0.04 x 60
ad X ———— 1.28 X & ———— 1.267 t/hr
2.43
0.04 m/mim
243 m
(m3/min) (t/hr)
2.0 30 o
4.0 40
2)
m X 60 X 5.1
12 X ————— = 383 X ——m—————— 0.976 m3
60 x t 60 X 20
m 60 /
51 /

20 hr/



(m3)
1.1 o 1.1
0.98 1.7
2.2
3.3
12 x
3.83 X 5.1
___________ 17.748
1.1
X m 17.75 X 60
60 60
10 1.5 [ O
0(m3) (m3)
10
19.79 15
20 o
25
[ 1]
11 14.420 m3
11 14.420
X & ——— 1.1 X —_—
12 3.828

17.748 hr

4.144 m3



(m3)

(m3)

14.42

10

15

20

25

15

[ 13

15 m3

13(m3)

(m3)

10.59

10

15

20

25

[ 10

10(m3)

(m3)

9.01

10

15

20

25

[ 9

9(m3)

(m3)

0.00

3 m3

6 m3




10)

11)

[ 14] 0 m3
6 m3/hr
14x 158 x 5.1
6 6
[ 4
4 12 x
( 0.767 +
23.435 m3
(m3) (m3)
10
23.44 20
30

1.347 hr

5.1



ns a9 x —— 0.00 X

t = 150.00 m

0.00
1.6 x (1 40  /100)
n 0.00
n= —_—— —_—
yn 1.6
yn (1.5 1.7t/m3)
sn (35 45%)
2)
t
9 10 x 1kg x _—
150.00
( 000 + 9.01 ) x 1 x ——
2.43
3)
t 150.00
al2 x 20kg x —— 3.92 x 20X ————

2.43

150.00
- 0.00 t
2.43
0.00 t/
0.00 m3/
1.6 t/m3
40 %
556 kg
4,836 kg



t 150.00
14 x ——— 000 x ————
2.43

5) ( )
t 150.00
14 x 0.44kg x —— 1.58 x 0.44x ————

2.43

0t

43 kg



